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Geometric progression
with quotientan-recurrence: ChI1)
initial value:
--

90,909,a.
explicit formula:anas"
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Fibonacci sequence
initial values Fo. =0

#
= I

(x) recurrence Fr =FntFae (U12)

9. I, 1, 2, 3, 5, 8, 13,21,34,55,89, ...
--

D (Fnz1) (gcd(Env,,Ful=1)
consecutive Fibnumbers are relatively
-- Arime
* 50,9,..... is atenacci-type sequence
if it satisfies the Fibonacci recurrence (*)
W Find all values oftom.

trogo, with quotient is Fib type



Pascal triangle C)
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at"a A: # (K+1) -subsets sit.We

- it contains,the special pt
-

3: us - St.
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it does not contain stopt.
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Vandermonds identity Notation:
14

t=sans homie
In

A B
Proof ⑭-
1821 :In I
-=A vB I am
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1A1=15 disjoint union: An B =0 K =0 . . . . .U
In

-SSERIIsuAlk, ISaBl-n-u Itis
=0 (i)-Eli IT E= ().r)=(Y"disjoint union K=0

o ST0.T, . . . . Tn3 is a patio of (er) (Y)
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combinatorial
K=0

prof 1" =2ti)
Binomial Theorem

#)x+()y + (E)x**Y27...- ()y"
ah-k

K=0
-

ebra,"Of (A):use Binomial The
*** 2=Elitethe

e
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⑭
Binonical Thun

CX)"= () x" most useful
special case

snai)=Eolas (x): floor of a
- rounded down value

I

(o) +(i)+()+15)---- 2" EE.
L

a*icture &n,2) =
E
=2
"
for S10.2)=1



ZolaY) =En Heven subsets of n]
C

trct.)-
# oold 11

-0 = 5 i it3-2 En =SCE2 if ue
Ifuz1 I combinate proof



Algebra prot of Enron = 26 no
8

a I (

-0=(0)- (p)+ (2)-13)+-...
=

Binomial The (Hx)"=... set x==1

OnCITLond inan -
# ISCUsF5 never an integer by FTA
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